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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

c˜O◊Tˆc˜Áa ( History ) 
ac˜ÁÃ^Eıı YÁPˆy‘]-1 (Y“U] Yy) 

Subsidiary-1 (Paper-I) : Ancient India 

OLD SYLLABUS 

(Up to July 2009 Enrolment Session) 
a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) Y“ÁªJÙ›X \ˆÁÃ[˝Tˆ›Ã^ c˜O◊Tˆc˜Á„aÃ[˝ Y«X◊XÔ]Á„S aÁ◊c˜◊TˆÓEı C 

Y“±ÛˆTˆÁ◊√º¯Eı =YÁVÁXm◊_Ã[˝ T«ˆ_XÁ]…_Eı =Y„^Á◊GTˆÁ C 
V«[˝Ô_TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) F–›fY…f búˆ `Tˆ„Eı ]GW˝ aÁ∂ÉˆÁLÓ[˝Á„VÃ[˝ =xÁ„XÃ[˝ 
ÂYªK˜„X Eı› Eı› EıÁÃ[˝S ◊ªK˜_ ? 

 (G) ªÿöˆÁX›Ã^ ÿëˆÁÃ^±ºˆ`ÁaX [˝Ó[˝ÿöˆÁÃ[˝ =‰{Fac˜ ÊªJÙÁ_ Y“`Áa◊XEı 
[˝Ó[˝ÿöˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) %Á◊V ]W˝Ó^«„G \ˆÁÃ[˝Tˆ›Ã^ aÁ]‹ôˆTˆ„‹óˆÃ[˝ =‡ˆ[˝ a+„EÔı Eı› 
◊[˝TˆEÔı %Á‰ªK˜ ? 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) c Ã̃[˝¥YÁ a\ˆÓTˆÁÃ[˝ YTˆ„XÃ[˝ EıÁÃ[˝Sm◊_ Eı› Eı› ? 
(F) `ÁaEı C ◊[˝„LTˆÁ Ã[˝÷„Y ÂGÏTˆ]›Y«y aÁTˆEıSfiÃ[˝ E ı◊Tˆ±ºˆ 

◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 
(G) ◊•Tˆ›Ã^ ªJÙ≥V–m„äÃ[˝ EıÁ^ÔÁ[˝_›Ã[˝ ]…_ÓÁÃ^X EıÃ[˝”X* 
(H) AEıLX ◊[˝„LTˆÁ, Y“`ÁaEı, ◊[˝VÓÁªJÙªJÙ¤ÁÃ[˝ Y úˆ„YÁbEı A[˝e 

Â[˝Ïà˘W˝„]ÔÃ[˝ Y“[˝N˛Á ◊c˜„a„[˝ c˜bÔ[˝W Ô̋„XÃ[˝ E ı◊Tˆ„±ºˆÃ[˝ 
a]Á„_ÁªJÙXÁ]…_Eı ]…_ÓÁÃ^X EıÃ[˝”X* 

(I¯) Y“ÁªJÙ›X \ˆÁÃ[˝„Tˆ VÁa Y“UÁ ◊ªK˜_ ◊Eı ? 
(ªªJÙ˜) Y“U] ◊TˆX `Tˆ„Eı \ˆÁÃ[˝Tˆ ÂÃ[˝Á] [˝Á◊S◊LÓEı a+EÔı 

◊[˝‰`¿bS EıÃ[˝”X* 
3* ae◊l˘ä ªRÙO›EıÁ ◊_F«X [˝Á ae„l˘„Y =w¯Ã[˝ ◊VX ( Â^-ÂEıÁ„XÁ 

ªJÙÁÃ[˝◊ªªRÙO ) f 6 × 4 = 24 
(Eı) È[˝◊VEı ^«„G a\ˆÁ C a◊]◊TˆÃ[˝ ◊Eı EıÁL ◊ªK˜_ ? 
(F) %„`Á„EıÃ[˝ aÁ]ÓLÓ[˝ÁV› X›◊Tˆ„Tˆ Eı◊_Ü^«„à˘Ã[˝ Y“\ˆÁ[˝ 

EıTˆFÁ◊X ◊ªK˜_ ? 
(G) GÁμ˘ÁÃ[˝ ◊`„îÃ[˝ =YÃ[˝ ªRÙO›EıÁ ◊_F«X* 
(H) [˝ÁEıÁªRÙOEı„VÃ[˝ CYÃ[˝ ªRÙO›EıÁ Ã[˝ªJÙXÁ EıÃ[˝”X* 
(I¯) ÈEı[˝Tˆ¤ ◊[˝‰V–Ác˜ [˝_„Tˆ %ÁY◊X Eı› Â[˝Á„MıX ? 
(ªJÙ) ◊•Tˆ›Ã^ Y«_„Eı`› a+„EÔı ae◊l˘ä ªRÙO›EıÁ ◊_F«X* 
(ªK˜) %ÁY◊X ◊Eı ]„X Eı„Ã[˝X Â^ "[˝SÔ' C "LÁ◊Tˆ' V«◊ªRÙO Y UEı 

[˝Ó[˝ÿöˆÁ ? 
(L) "ÿô…ˆY' A[˝e "◊[˝c˜Á„Ã[˝Ã[˝' ]„W˝Ó YÁUÔEıÓm◊_ Eı› Eı› ? 
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1. Answer any two questions : 20 × 2 = 40 

 a) Discuss the comparative usefulness and 

limitations of the literary and archaeological 

sources for reconstructing the history of 

ancient India. 

 b) What were the causes behind the rise of 

Magadhan imperialism in the 6th century 

B.C. ? 

 c) Discuss the administrative system of the 

Cholas with special reference to their local 

self government. 

 d) What is the debate on Indian feudalism in 

the early medieval period ? 

2. Answer any three questions : 12 × 3 = 36 

 a) What were the causes of the decline of the 

Harappan Civilization ? 

 b) Make an estimate of Gautamiputra 

Satakarni as a conqueror and ruler. 

 c) Assess the achievements of 

Chandragupta II. 

 d) Critically examine the achievements of 

Harshavardhana as a conqueror, 

administrator, patron of learning and 

promoter of Buddhism. 

 e) Did slavery exist in ancient India ? 

 f) Analyse India's trading contacts with Rome 

in the first three centuries. 

3. Write short notes or answer briefly on any four of 

the following : 6 × 4 = 24 

 a) What were the functions of Sabha and 

Samiti in the Vedic Age ? 

 b) What was the impact of Kalinga War on 

Asoka's imperial policy ? 

 c) Write a note on Gandhara Art. 

 d) Write a note on Vakatakas. 

 e) What do you understand by the Kaivarta 

rebellion ? 

 f) Write a short note on Pulakesin II. 

 g) Do you think that 'Varna' and 'Jati' were 

two different systems ? 

 h) What were the differences between 'Stupa' 

and 'Vihara' ? 

    


